Chapter 5 HKAS 8

Answer – Exercise 1

The income statement extract and statement of changes in equity for the year ended 31 December 2005 (with 2004 financial statements as comparative figures) are as follows:

Gamma Co.

Extract from the Income Statements

	
	2005
	2004

(restated)

	
	$
	$

	Profit before interest and tax
	30,000
	18,000

	Interest expense
	(3,000)
	(2,600)

	Profit before tax
	27,000
	15,400

	Income taxes
	(8,100)
	(4,620)

	Profit for the year
	18,900
	10,780


Gamma Co.

Statement of Changes in Equity

	
	Share capital
	Retained earnings (restated)
	Total

	Balance at 31 Dec 2003 as previously reported
	10,000
	20,000
	30,000

	Change in accounting policy for the capitalization of interest (net of income taxes of $1,560) (Note 1)
	
	(3,640)
	(3,640)

	Balance at 31 Dec 2003 as restated
	10,000
	16,360
	26,360

	Profit for the year ended 31 Dec 2004 (restated)
	-
	10,780
	10,780

	Balance at 31 Dec 2004
	10,000
	27,140
	37,140

	Profit for the year ended 31 Dec 2005
	
	18,900
	18,900

	Balance at 31 Dec 2005
	10,000
	46,040
	56,040


The nature, reason and effect of the change in accounting policy can be disclosed as follows:

Note 1 Change in accounting policy

During 2005, Gamma changed its accounting policy for the treatment of borrowing costs related to a hydro-electric power station under construction for use by Gamma. Previously, Gamma capitalized such costs. They are now written off as expenses as incurred. Management judges that this policy provides reliable and more relevant information because it results in a more transparent treatment of finance costs and is consistent with local industry practice, making Gamma’s financial statements more comparable. This change in accounting policy has been accounted for retrospectively, and the comparative statements for 2004 have been restated. The effect of the change on 2004 is tabulated below. Opening retained earnings for 2004 have been reduced by $3,640 which is the amount of the adjustment relating to period prior to 2004.

	Effect on 2004
	$

	Increase in interest expense
	(2,600)

	Decrease in income tax expense
	780

	Decrease in profit
	(1,820)

	
	

	Effect on period prior to 2004
	

	Decrease in profit ($5,200 interest expense less tax of $1,560)
	(3,640)

	
	

	Decrease in assets in the course of construction and in retained earnings at 31 December 2004
	18,900


Answer – Exercise 2

For each of the items, ask whether the following answer is yes or not, it yes, it is a change in accounting policy.

· Recognition

· Presentation

· Measurement basis

Therefore:

(a)
The answer to all three questions is no. This is only a change in estimation technique.

(b)
This is a change in presentation and therefore a change in accounting policy.

(c)
This is a change in measurement basis and therefore a change in accounting policy.

Answer – Exercise 3

Statement of comprehensive income

For the year ended 31 December 2007

	
	2007
	2006

(restated)

	
	$000
	$000

	Revenues
	60,000
	50,000

	Cost of sales (32,000 + 4,000)
	(40,000)
	(36,000)

	Gross profit
	20,000
	14,000

	Distribution and administrative expenses
	(4,000)
	(3,000)

	Profit before tax
	16,000
	11,000

	Income tax expenses
	(1,000)
	(1,000)

	Profit for the year
	15,000
	10,000


Statement of changes in equity (extract)

For the year ended 31 December 2007

	
	Share capital
	Retained earnings (restated)
	Total

	
	$000
	$000
	$000

	Balance at 1 Jan 2006
	X
	50,000
	X

	Total comprehensive income for the year
	
	14,000
	14,000

	Balance at 31 December 2006
	X
	64,000
	X

	Prior period adjustment
	
	(4,000)
	(4,000)

	Restated balance
	X
	60,000
	X

	Changes in equity for 2007
	
	
	

	Total comprehensive income for the year
	
	15,000
	15,000

	Balance at 31 December 2007
	X
	75,000
	X


Examination Style Questions

Answer 1

(a)

Thame Ltd – Statement of retained profit

	
	2010
	2009

	
	$000
	$000

	Opening retained profit as previously reported
	500
	150

	Correction of error
	95
	40

	Opening retained profit as restated
	595
	190

	Net profit
	400
	405

	Closing retained profit
	995
	595


Extract from notes to the financial statements:

1.
The company failed to record a profit before tax in the account $80,000 (tax – $40,000) in 2008 and $100,000 (tax – $45,000) in 2009. The financial statements of 2010 have been restated to correct the error.

(b)(i)


A change in accounting policy should only be made where the new policy is preferable to the one it replaces and it is anticipated that the new policy will provide a fairer presentation. This is part of the accounting concept of consistency. However, a change in accounting policy in order to comply with a new Hong Kong Accounting Standard or Interpretation would be regarded as sufficient justification to change an accounting policy.

(b)(ii)

An error in the valuation of the closing inventories two years previously would be accounted for as an adjustment for accounting errors over a two year period, would correct itself since the closing inventories of one period is the opening inventories of the next. It would therefore not be necessary to disclose this error in a note to allow for this. It would probably be necessary to disclose this error in a note to the financial statements, to indicate its effect on comparative results.

(b)(iii)

The directors’ decision to provide the loss on long-term construction work in progress would be considered as a normal recurring correction of an estimate made in a previous year.

(b)(iv)

The rate at which to provide for depreciation on fixed assets of a high technological nature is difficult and firms very often have little experience on which to base their decision. Although the loss in this example is large, it would be regarded as a normal recurring correction of an estimate made in a previous year.

(b)(v)

It often is the case on a lease that the tenant pays for the repairs to the premises all at once at the end of the lease. It may be the case that the firm should have paid for the repairs during the lease period. However, it is not the purpose of a prior period adjustment to smooth out inter-period payment; the fact is that the repairs were not paid.

Answer 2
(a)

Accounting policies are defined as those principles, bases, conventions, rules and practices applied by an entity that specify how the effects of transactions and other events are to be reflected in its financial statements through recognizing, selecting measurement bases for, and presenting assets, liabilities, gains, losses and changes to shareholders’ funds. Accounting policies by definition do not include estimation techniques.

Accounting policies define the process whereby transactions and other events are reflected in financial statements. For example, an accounting policy for a particular type of expenditure may specify whether an asset or a loss is to be recognized; the basis on which it is to be measured; and where in the statement of comprehensive income or the statement of financial position it is to be presented.

Estimation techniques are the methods adopted by an entity to arrive at estimated monetary amounts, corresponding to the measurement bases selected, for assets, liabilities, gains losses and changes to shareholders’ funds.

Estimation techniques implement the measurement aspects of accounting policies. An accounting policy will specify the basis on which an item is to be measured; where there is uncertainty over the monetary amount corresponding to that basis, the amount will be arrived at by using an estimation technique.

The distinction is important because changes in accounting policy are accounted for as prior period adjustments, whereas the effects of changes in estimation techniques are taken through the current year income statement.

(b)

(i)
Depreciation

(1)
Vehicles are being recognized and presented in the same way as before, and using the same, historical cost measurement basis. The only change is to the estimation technique used to measure the unexpired portion of each vehicle’s economic benefits. This is not a change of accounting policy.

(2)
This accounting change involves both a change to presentation and a change of estimation technique, as in (i) (1) above. As the method of presentation has changed, the former is a change of accounting policy but the latter is not. The two changes must therefore be accounted for separately. No change is made to the amount of depreciation charged in earlier periods, but the income statement for the preceding period is restated to move the depreciation charge from cost of sales to administrative expenses.

(ii)
Overheads

Although there is no change to the recognition and measurement of costs, they are being presented differently. This is therefore a change of accounting policy.

(iii)
Indirect overheads in stock valuation

Directly attributable costs, once estimated, must be treated as part of an asset as they continue to be and always have been. Accordingly there is no change to recognition. In addition, both stocks and overheads continue to be presented in the same way and measured on the same basis (stocks are measured at the amount of directly attributable historical costs). This is a change of estimation technique.

(iv)
Finance costs

The transaction whose effects are being reflected is the incurring of directly attributable finance costs. That transaction is still being measured in the same way, but there is a change to recognition, in that it is now being recognized as part of an asset rather than as an expense. There is also, consequently, a change to the presentation of the transaction in the statement of financial position and the statement of comprehensive income. This is a change of accounting policy.

(v)
Provisions

HKAS 37 requires entities to report provisions at the best estimate of the expenditure required to settle the present obligation at the statement of financial position date. Where that estimate is based on future cash flows, it is permissible to use undiscounted amounts only where the effect of the time value of money is not material. In such circumstances, the use of undiscounted future cash flows is, in effect, an estimation technique for arriving at the present value. Therefore this is not a change in accounting policy.

Answer 3
(a)

Accounting policies can be described as the principles, conventions, rules and practices applied by an entity that prescribe how transactions and other events are to be reflected in its financial statements. This includes the recognition, presentation and measurement basis to be applied to assets, liabilities, gains, losses and changes to shareholders funds. Once these policies have been adopted, they are not expected to change frequently and comparability requires that ideally they do not change from year to year. However, HKAS 8 does envisage situations where a change of accounting policy is required in the interests of fair presentation.
An entity may have to change an accounting policy in response to changes in a Standard or in applicable legislation. Or it may be an internal decision which can be justified on the basis of presenting a more reliable picture. An accounting policy adopted to deal with transactions or events which did not arise previously is not treated as a change of accounting policy.
Where a change of accounting policy has taken place it must be accounted for by retrospective restatement. This means that the comparative financial statements must be restated in the light of the new accounting policy. This makes it possible to compare results for these years as if the new accounting policy had always been in place. The financial statements must disclose the reason for the change of accounting policy and the effects of the change on the results for the previous year.
(b)
This issue is one of the timing of when revenue should be recognised in the income statement. This can be a complex issue which involves identifying the transfer of significant risks, reliable measurement, the probability of receiving economic benefits, relevant accounting standards and legislation and generally accepted practice. Applying the general guidance in HKAS 18 Revenue, the previous policy, applied before cancellation insurance was made a condition of booking, seemed appropriate. At the time the holiday is taken it can no longer be cancelled, all monies would have been received and the flights and accommodation have been provided. There may be some compensation costs involved if there are problems with the holiday, but this is akin to product warranties on normal sales of goods which may be immaterial or provided for based on previous experience of such costs. The appendix to HKAS 18 specifically refers to payments in advance of the ‘delivery’ of goods and says that revenue should be recognised when the goods are delivered. Interpreting this for Partway’s transaction would seem to confirm the appropriateness of its previous policy.
The directors of Partway wish to change the timing of recognition of sales because of the change in circumstances relating to the compulsory cancellation insurance. The directors are apparently arguing that the new ‘transactions and events’ are substantially different to previous transactions therefore the old policy should not apply. Even if this does justify revising the timing of the recognition of revenue, it is not a change of accounting policy because of the reasons outlined in (a) above.
An issue to consider is whether compulsory cancellation insurance represents a substantial change to the risks that Partway experiences. An analysis of past experience of losses caused by uninsured cancellations may help to assess this, but even if the past losses were material (and in future they won’t be), it is unlikely that this would override the general guidance in the appendix to HKAS 18 relating to payments made in advance of delivery. It seems the main motivation for the proposed change is to improve the profit for the year ended 31 October 2006 so that it compares

more favourably with that of the previous period.
Answer 4
It is not a change of accounting policy because a change of accounting policy only occurs where the same circumstances are treated differently. In this case there are different circumstances. Derringdo has changed its method of trading; it is no longer responsible for any errors that may occur during the fitting of the carpets. An accounting policy that is applied to circumstances that differ from previous circumstances is not a change of accounting policy.
Income statement

	
	$000

	Carpets fitted under the old terms of trade (these will not have been claimed in the previous year)
	1,200

	Carpets sold under the new terms of trade
	23,000

	Total revenue for this year
	24,200


Answer 5

The calculation of depreciation of a non-current asset involves the making of a number of accounting estimates. In this case two of the estimates, the useful economic life of the asset and the expected residual value, have changed. HKAS 8 – Accounting policies, changes in accounting estimates and errors – states that when accounting estimates change the change should be made prospectively. Brought forward numbers are not adjusted.
In this case the future depreciation required on the non-current asset from 1 April 2010 is $2,800,000 ($3,000,000 - $200,000). This should be charged to the income statement the remaining expected future useful life of the asset from 1 April 2010, in this case two years. Therefore depreciation of $1,400,000 will be charged in the year ended 3 March 2011 and 2012, unless the accounting estimates change again next year.
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